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Let us assume that you have typed in the fFollow.ng program (using 210,100

10 FROGRAM EBUEELESORT

20 CONST

30 Size = 2000;

40 VAR

S0 Numbers ¢ ARRAY Ci..Siz.l OF INTEGER;
60 I, Temp ¢ INTECER)

. 70 EEGIN

83 FOR I:=1 YO Size DO Number(I] := RANDOM}
S0 REFEAT

100 FOR I:=1 TO Size DO

110 Noswaps = TRUE;

120 IF Number([Il > Number{I+1] THEN

130 EEGIN

140 Temp = Number{Il;

150 Number[I3 = Number(I+il; : :
160 Number{I+1] := Temp} ‘
170 Noswaps = FALSE

180 END

190 UNTIL Noswapss

200 ENO. <

!
This procgram has a number of errors which are as follows:

Line 10 Missing semu-ction.

Line 30 o® really an ervor dut say we want a size of 100.
Lire 100 Size should te Size-1. '
Line {10 This shoulc Be at Line °3 instsad,

Line 190 Ncsw~anss should De Hoswaps.

Also the variable lum=ers has Been ceclaret Sut all referencas are t3 Nomter. Finally tre
SCOLIAX variabla {oswads has nut seen celared.
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